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No.                                                               Experimental problemExperimental problemExperimental problemExperimental problem 1 1 1 1    Points 

1. For:  0.4p 

 

R

V
II +⋅−= 0  0.4p 

 

2. For:  0.6p 
 

 

 

 

0.6p 

 

3. For:  0.6p 
 

Linear expression of the VI −  characteristic for reversed polarity 

0
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R

V
I −=  

0.2p 

 

 Ra 1=  0.2p 
 

 
0Ib −=  0.2p 

 

4. For:  0.8p 
 

correctly filling in the Table 3 0.8p 
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5. For:  0.8p 

 the slope of the fitting line  
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the slope-intercept of the fitting line  
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6. For:  0.4p 

 
the correlation coefficient for the presumed linear dependency 
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7. For:  0.8p 

 
0 9.6I Aµ=  0.4p 

 

 
Ω≅= k

a
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8. For:  0.4p 
 

( )
Tk

IrVq

BeII ⋅⋅

⋅−

⋅= η
0  

0.4p 

 

9. For:  1.0p 
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for  experimental data within the range rIV >  
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0.6p 

 

10. For:  0.8p 

 
correctly filling in table 4 0.8p  

11. For:  0.8p 

 
the slope of the fitting line  
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the slope-intercept of the fitting line  
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12. For:  0.4p 
 

the correlation coefficient for the presumed linear dependency 
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13. For:  0,6p 

 

 

0.6p 

 

14. For:  0.8p 
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15. For:  0.6p 
 

 
rIV =∆  

0.02 0.15r= ⋅  

0.6p 

 

16. For:  0.2p 

 0.2r ≅ Ω  0.2p  

TOTAL TOTAL TOTAL TOTAL     10p 
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No.                                                                                   Experimental pExperimental pExperimental pExperimental problemroblemroblemroblem 2 2 2 2    Points 

A. For:  1.5p 

 
the value of the period of the Moiré pattern: 23 u.a. 1.0p 

 

 the value of the period of the grid marked  

“Rigla, raportor, grila 2”:
1

1 0.76 1 23
p =

±
 0.5p 

 

B. 
the value of the period of the Moiré pattern: 23 u.a. 1.0p 

1.5p 

 the value of the period of the grid marked  

 “Rigla, raportor, grila 3”:
1

1 0.76 1 23
p =

±
 0.5p 

 

C. For:  1.0p 
 

correct commentary regarding the possibility for a Moiré pattern to appear 
as a consequence of the usage of the grids indicated 

1.0p 
 

D. For:  2.0p 
 

the value of the period of the grid marked  
 “Rigla, raportor, grila 2”:  0.79 u. a. 

1.0p 

 

 
the value of the period of the grid marked  
 “Rigla, raportor, grila 3”: 0.73 u. a. 

1.0p 

 

E. For:  2.0p 
 

 

0.5p 
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F. For:  1.0p 

 

correctly filling in Table 1 1.0p 

 

G. For:  1.0p 

 correctly filling in Table 2 1.0p  

TOTAL TOTAL TOTAL TOTAL     10p 

 

 
 

 

 


